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Question Number : 1 Question Id : 492863641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Assertion (A) : Species is the lowest taxonomic category in the hierarchical arrangement
and shows distinguishing characters from one species from other closely
related species based on several phenotypic characters. However. as we
go higher from species to kingdom the number of common characters
goes on decreasing.

Reason(R) : All plants come under the highest category called kingdom. plantae. which
has two major classes dicotyledonae and monocotyledonae.
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Which of the following 1s true?
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Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
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(A) 1s true. but (R) 1s false
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(A) and (R) are false
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Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
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Question Number : 2 Question Id : 492863642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists

ListI
(a) Prions
(b) Viroids

(c) Phycobiont

(d) Mycoplasmas
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ListII
Saprophytic and parasitic organisms

(11) Lacks the protein coat. and RNA i1s of low molecular

weight

(111) Infectious agents which possess only proteins but

not nucleic acids

(iv) The algal component in a symbiontic association
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Organisms that completely lack a cell wall and are
pleomorphic
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Question Number : 3 Question Id : 492863643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following lists :

ListI ListII
(a) C.GK.Ramanujam (1) de Historia plantarum
(b) Sutton and Boveri (11) palynology
(¢) Theophrastus (111) sexual system of classification
(d) Carolus Von Linnaeus (iv) sexual reproduction in plants

(v) chromosome theory of inheritance
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Question Number : 4 Question Id : 492863644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Statement (S) : All bryophytes are homosporous
Reason (R) : In bryophytes. gametophytic and sporophytic bodies are conspicuously
different and the life cycle 1s called haplo-diplontic.
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Which of the following is true?
& 180 TAS® A8 HBgH0?

Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

. % (S) SoBoko (R)Bodr S&ghn Sodoiw (S) 8 (R) 20808 D8

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
_ o (8)H00ah0 (R)Bods 5o, 53 (S) 8 (R) $0g08 IS8 56

(S) 1s true. but (R) 1s false

i (S) Begdn, 57 (R) eddgdon
(S) 1s false. but (R) 1s true

iw (8) eddgsdm, 50 (R) ddgdw

Question Number : 5 Question Id : 492863645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Study the following lists :

ListI ListII
(a) Fucoxanthin (1) Liverworts
(b) Chlorophyll D (11) Strobili
(¢) Ginkgo (111) Rhodophyceae
(d) Amphibians (1v) Phaecophyceae

(v) Living fossil
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Question Number : 6 Question Id : 492863646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following lists :

ListI ListII
(a) Rhizome (1)  Aslender lateral branch and arises from the base of main
axis
(b) Corm (11) Stem is modified into a needle like structure
(c) Stolon (111) Branches of limited growth that perform photosynthesis
(d) Cladophyll (1v) Colocasia

(v) Curcuma longa
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Question Number : 7 Question Id : 492863647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indicate the statement which 1s not correct?

& 808 TRS' I S gy 6 Dordood.

Options:
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Stem tuber of potato. thizome of Zinziber and corm of Colacasia help in perennation
to tide over unfavourable conditions for growth.
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Roots of Taeniophylium and Avicennia called pneumatophores. help to get oxygen
for respiration
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The haustorial roots of Striga and Cuscuta help to obtain water and minerals from
the host plant
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Rhizobium inhabit the root system to fix almospheric nitrogen by forming nodules.
nodular roots in Pisum. Cajanus. Cassia. etc
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Question Number : 8 Question Id : 492863648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists :

List]
(a) Spadix
(b) Valvate
(¢) Cassia

(d) Schizocarpic
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Acacia
Tridax
Calotropis
Colocasia
Zygomorphic
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Question Number : 9 Question Id : 492863649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In plants growing under environmental stress condition. seeds germinate while they are on
the mother plant. An example for such a condition is :
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Question Number : 10 Question Id : 492863650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : Herkogamy is common in Datura plants.

Reason (R):  In Herkogamy. anther and stigma are placed at different positions so that
the pollen cannot come into contact with the stigma of the same flower.
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Which of the following is true?
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Options:



Both (A) and (R) are true and (R) 1s the correct explanation of (A)
L, % (A) 558050 (R)Bods ﬁ@gfm& 208w (A)§ (R) é&@oc‘é T fs

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
5 (A) 8050 (R)Bodsr d8gh0, 570 (A) 8§ (R) 58508 Q&80 52

(A) 1s true. but (R) 1s false
= (A) 3500, 50 (R) evdegdon

(A)1s false. but (R) 1s true
o (A) 3850, 520 (R) Segbon

Question Number : 11 Question Id : 492863651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Polyembryony 1s observed in plants like Mango.
Reason (R) : Nucellar cells develop into the embryos.
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Which of the following is true?
& 1808 FAS® 2B SHgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
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Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
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(A) 1s true. but (R) 1s false
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(A) 1s false. but (R) 1s true
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Question Number : 12 Question Id : 492863652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0

Match the following lists :

(a)

(b)
(c)

(d)

§od

(a)

(b)

(c)

(d)

ListI

The mesocarp and endocarp are fused to form
pulp and the seeds are hard

Stamens are united into one bunch

The main axis continues to grow and flowers are
arranged laterally in acropetal succession on the
branch of peduncle

Stamens are united into two bundles
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The correct answer 1s
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Pisum

Asparagus
Crotalaria

Tobacco
Capsicum
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Question Number : 13 Question Id : 492863653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Smilax possesses the following characters.

1)  Sixtepals and six stamens in two whorls. odd tepal of outer whorl 1s anterior in position
and odd tepal of iner whorl is posterior in position. Valvate aestivation.

11)  Pentacarpellary. ovary inferior. pentalocular with few ovules. stigma bifid and simple.
ii1) Fruit is usually capsule. endospermous seed
iv) Flower is solitary. bisexual.
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Question Number : 14 Question Id : 492863654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

H,0, is converted to water and oxygen by an enzyme which is present in the cellular
organelle.
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Question Number : 15 Question Id : 492863655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identity the aminoacids containing hydroxy group in their structure
1) Cysteine

i1) Threonine

ii1) Tyrosine

iv) Glutamic acid

TEE (e 2 oS sdre Joymed’ Ho&' Hboded

—_
&

E._c‘.l:

i) 2%

}'h

i) IS
iii) B&SS

V) Krtodo§ wdo

The correct answer 1s
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Question Number : 16 Question Id : 492863656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : Meiosis increases the genetic variability in the population of organisms
from one generation to the next and such variations are important for the
process of evolution

Reason (R):  Errors in DNA replication is the main cause of such a genetic variability
during Me1osis
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Which of the following is true?
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Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
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Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
o (A) 50003 (R)Todsr D8gi0, 570 (A) § (R) 20808 Dide ek

(A) 1s true, but (R) 1s false
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(A) 1s false. but (R) 1s true
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Question Number : 17 Question Id : 492863657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
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The correct answer 1s
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Question Number : 18 Question Id : 492863658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arrange the following from perifery to the centre of the stem in dicotyledonous plants
1)  Pericycle
1) Endodermis
1i1) Protoxylem
v) Metaxylem
v)  Phloem
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Question Number : 19 Question Id : 492863659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Roots of the following hydrophytes are fixed to substratum. but their long petiolated leaves
keep them floating on water surface

1)  Salvinia

i1) Victoria regia
1) Utricularia
iv) Nvmphaea
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The correct combination is
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Question Number : 20 Question Id : 492863660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The amount of CO, and H,O absorbed to produce 180 g of glucose are

180 (rdwe Ar8'E wé g8, Facddeds CO, Hédsw H,0O
Options:
193 and 264 grams respectively

. w 193 0ot 264 prdwes S8R



108 and 264 grams respectively
, w 108 2000in 264 prier S

264 and 108 grams respectively

5 o 264 308050 108 [rdnes S50

162 and 264 grams respectively
4 % 162 500w 264 (rdwes S8

Question Number : 21 Question Id : 492863661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following requires energy?
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Active transport
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Facilitated diffusion
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Question Number : 22 Question Id : 492863662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following :
List-I

(a) Manganese
(b) Magnesium

(¢c) Zinc

(d) Nickel
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The correct answer 1s
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(iii)
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List-IT

It activates carboxylases

Splits water to liberate oxygen

Involved in the synthesis of DNA and RNA
Activator for urease enzyme

Helps in stabilizing the protein structure
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Question Number : 23 Question Id : 492863663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Identify the following enzymes to which classes they belong to :

W Argmmosuccinase
[ Arginosuccinic acid > Arginine + Fumaric acid

[I. Glutamic acid +NH; +ATP

Glutamine Svnthetase . .
3 > Glutamine + ADP+ Pi
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The correct classes respectively are
PON SR 0D

Options:
Oxidoreductase and ligase
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Lyase and ligase
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Lyase and transferase
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Hydrolase and ligase
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Question Number : 24 Question Id : 492863664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find out the location of the following molecules in different components of chloroplast

List-1 List-1I
(a) NADPreductase (1) Embeded in the membrane of Thylakoid
(b) Protons produced by (i) Lumen of the Thylakoids
splitting of water
(c) F,component of the ATPase (111) Outer surface of the Thylakoid
membrane
(d) F, component of the ATPase (iv) Stroma side of the membrane
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The correct answer 1s
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Question Number : 25 Question Id : 492863665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In photorespiration RuBisCo binds with O, to form
1)  Phosphoglycerate

ii) Phosphoglycolate

ii1) Glyceraldehvde - 3- Phosphate

iv) Phosphoenol pyruvate

508 Td8oRe® RuBisCo e8288 $od TQ) J8)tdyed
1) ﬁﬂ%ﬁaﬁﬁ

i1) ﬁ*%‘gﬂﬁtﬁﬁﬁ

iii) A20°Q7r& - 3- S

V) FASTS ErBE

The correct combination 1s:
QB TS Jo¥do

Options:
Lo i&i

5w dEEHH
L w G &IV
4 ® il‘gﬁjV

Question Number : 26 Question Id : 492863666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Glycolysis, the sequence of reactions occur in the following order

AsTodRd” aff Wdge B0

[ 54

Options:

BPGA —» 3-PGA'—» 2-PGA -5 PGAL -+ PEP '— Pymvate

sl BPGA'—» 3-PGA'—5 2-PGA '—»5 PGAL - PEP 5 0838



3-PGA'—» 2-PGA - BPGA —» PGAL - PEP — Pymvate
5 3-PGA - 2-PGA 5 BPGA -5 PGAL -5 PEP -5 2838

2-PGA' —» 3-PGA'—- PGAL '—- BPGA — PEP Pyruvate
. 2-PGA 5 3-PGA s PGAL —- BPGA > PEP WErIE

i

l

PGAL —- BPGA'—» 3-PGA — 2-PGA— PEP '— Pymvate
%

i PGAL — BPGA —» 3-PGA 2-PGA — PEP S35

I

P

Question Number : 27 Question Id : 492863667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Glycerol. the breakdown product of fat enters the respiratory pathway after being
converted to
(300 STPgen AdyHo Bodm DHAS EKEDSD TEHED Srdod’ AErHos” Whshod

Options:

Acetyl - CoA

J0BS - CoA

Glyceraldehyde - 3 - Phosphate

i A
Pyruvic acid

2ErIE 500

PEP
, » PEP

Question Number : 28 Question Id : 492863668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



580 (R):

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 508050 (R)Boks Hégsn $08050 (A)8 (R)H58508 586

Assertion (A) :

Reason (R)

&5 (A):

1%

Measurement and comparison of the total plant growth per unit time 1s
not absolute growth rate.

The growth of given system per unit time as percentage of initial size 1s
called the relative growth rate

308 S° w8 PIresood” Jndgo o Souododd Fuden,
FOSen Dord Dy Tew
o8 SRS’ wf Piresecd” DG Pl L0SraTerd) Tl

&Sy eotrd

Which of the following is true?

& 808 TAS® 2B HSgH0?

Both (A) and (R) are true. but (R) is not the correct explanation of (A)

o () 3080 (R)Bod> 98550, 50 (A) & (R) 5658 D586 58

(A) 1s true. but (R) 1s false

" (A) S50, 50 (R) edesin

4

(A) 1s false. but (R) 1s true

- (A) ©ddgsn, 5 (R) Sefgd0

Question Number : 29 Question Id : 492863669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Spirillun (1) comma shaped
(b) Vibrio (11) helical
(¢) Pleomorphic (111) spherical
(d) Cocci (iv) elongated rods

(v) keep on changing their shape

808 T8I adsESos

e -1 erde - 11
(a) Bo (1) s3> e5°do
(b) dB&> (1) RO s3°80
(€) aFosrHEs (111) AesSo
(d) &3 (1v) FAYR) Somew

(V) ssdo Srdyfobr Hoba

The correct answer 1s
00 0000m 235720

Options:

@ @® @« @
e ) @) (v (1)

@ O (o (@
. x () (v (1) (i)

@ ® (© @@
3% (1) (v) (i) (i)



@ ® (© (@
e () @ W ()

Question Number : 30 Question Id : 492863670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arrange the following steps in the order of their occurance in the Iytic cycle of a phage.
i)  Maturation phase

ii) Penetration phase

111)  Attachment

iv) Release phase

v)  Biosynthesis

T

FESLE

[ -

S0’ 200 & §od dfodn SIS edodod
D) 98

The correct sequence is
QB JBX BB BH00
Options:
| % i Liv.vH
5 % 1,11 1V, V. 11
3 % 11, 1. 111, V. 1V

4 il il V. 1, iV

Question Number : 31 Question Id : 492863671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The characteristic features of a plant with “Tt” are

1)  Itis aheterozygote resulted from a dihybrid cross

i1) It represents genotype

ii1) The hybrids contain alleles which express contrasting traits
v)  The two alleles are derived from the same parent

20 TtEORS Doof o H8gE wfearen

1)  &¢0o88 dodeas’ 2365;]3 D20 dBw 220

i) 28 23808 Erara) Bondod

i) Dofderrod” P& ddwiidfonyws DI viTroin BeoHHod
iv) Bod chnMidiomen od 2550 $od Jdde

The correct combination 1s
QB DOFE To¥DoD)
Options:
; # 1&11
o o L&
3 # N&IV

L w il & iV

Question Number : 32 Question Id : 492863672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the dihybrid cross. the phenotypes are: round. yellow ; wrinkled. yellow ; round, green
and wrinkled. green seeds. What is the probability of wrinkled yellow seeds in the above
Cross?

E008s woE8moes” dﬁgégfﬁr#w MO0, D05 : B0 EELY, D00 . Moo, e8BIDW) 08w
S0 Sen L@ @é&ézﬁtﬁ I TP e, ‘gga @@J“é Dofbmmods” Sndden, HdoP o AsTo
E@oe,}'*éﬁgé oJOEE?

Options:



S.WE

5
4_%16

Question Number : 33 Question Id : 492863673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the corresponding sequence of mRNA when a polynucleotide template DNA strand
is 3'-TAC GGT AAG CGG ATC-5"?

DNA &F® 78886 Srddesos’ gardomrdo 3'-TAC GGT AAG CGG ATC-5'

@005 % BB Jooddod MRNA ESrsoardo 28?

Options:

{ ¢ 3'-AUG CCA UUC GCC UAG-3'

. 3 -AUG CCA UUE GCC UAG-5'

5“UAC GGU AAG CGG AUC-3'

3 ®

, » 3'-UAC GGU AAG CGG AUC-S'

Question Number : 34 Question Id : 492863674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following codes for methionine and also acts as an initiator codon?

& HHS TBS A8 |PFoFFmamr HVDIT WHArINN pdo §FE Fdod?

Options:



1% UAA

o> W I_]I_]-[_I
. ¢ AUG

. % UGA

Question Number : 35 Question Id : 492863675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Lac operon contains three structural genes =, *y’ and ‘a’
The structural genes code for
1)  The ‘=" gene codes for beta - galactosidase enzyme.
ii) ‘a’ gene does not code for transacetylase enzyme.
111) The ‘v’ gene codes for enzyme permease.
) ‘y’ gene does not code for the enzyme permease.
V)  ‘a’ gene codes a transacetylase enzyme.

o8 TR 3 AT T8 2dogHBS 27, YT $odadn ‘a’ EYYTryomw. & Aoy 8 2dogIe
Hosdo B

1) 27 adg) P-rofeiE JoBs Sosdbo

1) ‘@’ 2089 EWrQuudidsE JoRaoiy $o8do 57

i) %y 2gd) HB)GNE Jo@E Sosso
V) y =gl $0)00E JoBHB Dosdo 5

The correct combination 1s
QB DO oo

Options:
1% l’1v.v

ook Gy



o ox HLV.IV&I]
4o LN&V

Question Number : 36 Question Id : 492863676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Single stranded strings of nucleotides that extend from the end of a fragment of double-
stranded DNA are called

'l

Cods o DNA pobery Q580 0od FEA0D2ES PSS ol drEdrShod
DS 087
Options:

Palindromic sequences

| 5 TOOEDE SEES0

Staggered cuts
g VES

Cloning sites

50 PHhTen

Cohesive ends

. HonoeRs Bhen

Question Number : 37 Question Id : 492863677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : In gel electrophoresis. DNA molecules can be separated by forcing them
to move towards the anode under an electric field through a matrix.

Reason(R) : Thisisbecause DNA fragments are positively charged.

IPss0 (A): BS Qm@@‘é&ﬁeﬁﬁ DNA ee0:) Déogs o Sod 858 wedodormr
LIS S dr@8 Moo sdowndool.

820 (R): 28 DNA podoren §378)88 wodbio Jod.

Which of the following is true?
& 808 TS 2B DSgH0?

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
- (A) Ho0ain (R)Boder Ségdn Hooiw (A)$ (R) S0G80s Jdden

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
L (A) 30005 (R)Bode 58550, %7 (A) § (R) 56508 D5 5

(A)1s true. but (R) 1s false
i (A) dggin, 570 (R) eddghn

(A) 1s false. but (R) 1s true

o (A) 3850, 0 (R) g

Question Number : 38 Question Id : 492863678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In addition to the production of high yielding and disease resistant varieties. genetic
modification has:

i)  helped to reduce post harvest losses

11)  decreased the nutritional value of food

ii1) reduced reliance on chemical pesticides

iv) decreased the efficiency of mineral usage by plants

v)  produced crops that are resilient to environmental stresses

20gHBIgTr e 8D JSFgHRE Fgh ITEE Frod &S BTNLDTE & ol
TES BB EEYES?

1) Sobfd dod Sipe SHdes

i) e U8 dense SHGes

111) SFchHdd ddTdsre Tdso Siheoso

V) 30 oS plz olwre Frdio PHgE ShHdo

V) Teddo w868 $LnFI Jnf o G $88
i E“_‘l il

The correct combination 1s
A6 HOFH Do

Options:

e (). ). Git) & (iv)
(G, Gi). () & (¥
5 » (11). (1v) & (V)

4w (). (i) & (v)

Question Number : 39 Question Id : 492863679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With advancements in genetics. molecular biology and tissue culture the plant breeders are
trying to incorporate the attributes mnto crop plants.

Indicate the correct attributes from the following.
1)  increased tolerance to environmental stresses
11) resistance to edaphic factors

ii1) resistance to pathogens

iv) increased tolerance to insect pests

BT Y, LEITY, Ewero HPJow YTRSE JF Dedtdw Dob In od DR
olodogrdo BASred HabayiyTs

& 808 TAS" 2D ¥IS ofTen

1) Teddon 2880 SLRES o IS g

1) S0)85 e od PEFEEs

1) Tgds e Sod B85 EES

V) S&¥ Ddo $08 SLFRS THodisn DowE ol

Options:

| w L& IV

o i & i

Question Number : 40 Question Id : 492863680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The bacterium that is commonly found in the anaerobic sludge during sewage treatment 1s
called

505K HRS* TSIS Ho& STos® FFEwor Jod wr§doBved

Options:
Methanobacterium

BT erE B
1.4 ==



Staphylococcus

2. 3\5 27 ao
Acetobacter aceti
. @ETerES @Ed
o & &
Clostridium butylicum
B ars A E TS K 8,
4 R -E?E_ALE‘CLVL} E:I....-'f.?bw
Z00l0gy
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 492863681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Identify the levels and hierarchy from the following in the classification of animal Kingdom.

a) Family
b) Class
¢) Phylum
d) Order
e) Genus
f)  Species

208> 5888d" HBod FES" IS godio JHHJEIFQ) Hgowtw
a) Sotwondw

b) Jegridn

C) DA

d)  ESsm

e) (DS
) =8
Options:

i x Anbae—yd3Te
> % d>ec—+>b—sa—sfe
e c—ab—sd—a—e—t

ix a—=>dacabosfe

Question Number : 42 Question Id : 492863682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following method does not represent the in-situ conservation of biodiversity

§od T8S® & dFaFld HodEd Dou0doRSs 5%

i

Options:



Sanctuaries

E-ﬁoiﬁﬁa?gm

Biosphere reserves

, x ESFY 688 Soren

Gene banking

v 2353.‘:5 ergosoen

Sacred grooves

L% FHS STren

Question Number : 43 Question Id : 492863683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) Chordata (1) Acoelomate
(b) Nematoda (11) Schizocoelomate
(c) Mollusca (111) Enterocoelomate
(d) Platyhelminthes (iv) Pseudo coelomate

Bod T8I 2ES8Todk

erde -1 arde - 11
(a) sQir (1) #6888 Giragdn
(b)) A& (1) D8 $68 Lrddw
(€) Hoodr, (111) o ¥68 &850
(d) FET0WES (1v) dogrg #06d Borddw

The correct answer 1s
o8 Lo =TT

Options:



@ ® (© @
Lx (D (i) () (1)
@ @ (© @
> (1)  (v) (1) (1)
@ @ (© @
=i (v) (1) (1) (1)
@ ® (© @

Lo ) @ Gi) @)

Question Number : 44 Question Id : 492863684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Kidney shaped nucleus (1) Eosinophil
(b) Large spherical nucleus (1)) Monocytes
(c) Bilobednucleus (111) Neutrophil
(d) Multlobed nucleus (iv) Platelets

(v) Lymphocyte

§od TBY 2EHEBod

e -1 e - 11
(a) Sorghod ess5EHo (1) 2IHDS)
(b) gm Soboin Moo (i) SrSFDE)
(c) Bodk wodien EEAS (111) SrgEdad)
(d) 85 woddben EOAS (Iv) &8 Sd8en

(V) Qodpix

The correct answer 1s
D0 LoD 21w

Options:

@ O (@© @@
px ) @ @ @)

@ ® ( @
v (1) (v @ (@)
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,x ) () @) (@)

@ O © @
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Question Number : 45 Question Id : 492863685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Trilobite larva 1s present in the development of

o0 E@é&@}i’f Eﬂ*gﬁ SogiEsn wbotad

Options:

Scolopendra

P T !

. % wb_ﬁ“_.- wD@ﬁ_
Limulus

i e

- @uﬁqgﬂc&

Palammnaeus

Palaemon

. % P OSSR

Question Number : 46 Question Id : 492863686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) :

Reason (R) :

BTy {55):

s¥wo (R):

Symmetry of an organism 1s determined based on the symmetry of the
early developmental stages and not that of the adults.

Bilaterally symmetrical animals are more efficient in seeking food. locating
mates and avoiding predators.

w8 € TPYR0 TR BwE), (@Ps e o T30 AT 0. @085
FEEIN 2EFE.
Geard)y Qs 2odIor ¢ JBFIIS®, JoNiSEI

I8 S&od,
PEE 2Yo Doh EDoSEIEeS” I8 I dMgdosormr trolrtow

Which of the following is true?
& 1808 TS B JIBgB0?



Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)

, % (S) S080i0 (R)Bodr dégdn So8asn (S) § (R) 005808 D8

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
_ o (8) 308050 (R)Bodr 5o, 570 ()8 (R) S0 DB8e0 56

(S) 1s true. but (R) 1s false

L x (8) d8g50, 52 (R) edsgsm

(S) 1s false. but (R) 1s true
s (S) eddgsdm, 50 (R) d&ghw

Question Number : 47 Question Id : 492863687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one the following characteristic features of Frog is similar to Tiger

& 1808 oimrost o B3y ofndn DO DoY), vgpdnd PO ook
Options:

Cutaneous and bucco-pharyngeal respiration
|y SO0h Bo0aho eibgfdd TvEak

Three-chambered heart

o % 3 Ko L"be\}cﬁoﬁou

Dicondylic skull
- Gsrodos Y

Poikilothermic animals

ISaPE sodued
4 ®

Question Number : 48 Question Id : 492863688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

*Sternum’ also known as ‘breast bone” first appeared in which of the following animals

L f:

ﬁrﬁi?{g”éﬁ HE QBV0ET BT ﬂé}ﬁ’?{o&“ﬁ&. RO RHOM & goyos’ 93:5;]&26&
Options:
Pisces

| % DI

Amphibians

oW oTTe)
o o

Reptiles
560y en

Birds

Question Number : 49 Question Id : 492863689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following has ATP-ase activity in flagella

& (808 aYS TES* STyt ATP-E $dg EOASS
Options:

Tubulin

mga}a@ﬁ

Kinetosome

JISTANST

Dynein arms

Be rITVHoo
= e
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wd =
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Question Number : 50 Question Id : 492863690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: O
Choose the correct statements with reference to flagella
a) Do not unite to form ciuri
b) Foundall over the body

¢)  Perform undular movements
d) Perform pendular movements

Eeroiy Jdowofodd DO J“gspgﬂr‘ﬁa 128 028k
8  Erzreo 90 dgwor QNG D)
b) 308 &H0Sododir ool
c) I S0l JoTQ) HEGTon
d) 2 o8 o) HEGIow
Options:

; » a&d

2_‘;{_,3&(:

2 x b&C

4 % ¢&d

Question Number : 51 Question Id : 492863691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

(a)
(b)
(c)
(d)

S0

(b)
(c)
(d)

List-1
Nocturanal periodicity

Extra intestinal migration
Schuffner’s dots
Tetra nucleate cyst

TN 2aR8dodk
erflae -1

QAFT5 L BSH5IH0

The correct answer 1s

D8 Bows 2ot

Options:

(@ @ (© (@
p x (@) (@) @) Q)

@ o () @
> % (V) (1) (1) (11)

@ ®m ( (@
o (i) (v () @)

@ ® © @©
Lo () ® G @

(1)
(iii)
(iv)
V)

(i1)
(iii)
(iv)
V)

List-1I

Entamoeba histolytica
Plasmodium vivax
Wuchereria bancrofti
Ascaris lumbricoides
Taenia solium

erde - 11

Joboer rYPBEs
T Bado 57
50805 roETR

B 00 0o@5"wod®

Eacir FOoo



Question Number : 52 Question Id : 492863692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) Ectoparasite (1)  Ascaris
(b) Hyperparasite (11) Entamoeba
(c) Coelozoic parasite (111) Leishmania
(d) Histozoic parasite (iv) Nosema

(v) Head lice

808 TBI uEHEDs

arder -1 erder - 11
(@) erdrg DoPdEd (1) 3708
(b) ©§30°5)2ED (i) Qotadoer
(©) &8 Ho5ED (i) daryRos>
(d) Seomro STdHEd (Iv) S*dd
(V) oo

The correct answer 1s

B8 oD 2aven
Options:
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e M @) @ @)

@ (@b (@ @
z % (1) (v) (1) (1)
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Question Number : 53 Question Id : 492863693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) Morphine (1)  Atropa belladonna
(b) Hallucinogenic (11) Erythroxylum
(¢) Cannabinoids (111) Papaver somniferum
(d) Cocaine (iv) Cannabis sativa

Bob B wEHGBs

e -1 erder -1
(a) 50y (1) o'y Busa
(b) FedITBEIS (1) 28 EBwo
() Edon) (1) BrH86 FAywo
(d) &3 (Iv) §5°08 38

The correct answer is

58 o0 2aTme

Options:
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Question Number : 54 Question Id : 492863694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following schematic diagram represents the labium in the mouth parts of cockroach.
Identify A.B.CandD

& (808 DD Fho¥ T8 Frmrest Fodd dddody Srdowade. & DLINSA

A B, C&%08aci0 Dedo hiothhn

A

Options:

A-Submentum. B-Glossa. C-Labial palp. D-Palpiger

L » ANDSoodidn. B-:‘;fﬁ*. C-e988 ﬁgﬁ“‘guﬁo. D-ﬁ*@gaﬁﬁ

A-Labrum. B-Palpiger. C-Glossa, D-Labial palp
A-L50, B-rdhab, C70ar, D-odd Syoryoiio
o ® 5] ol &= ol &

A-Palpiger, B-Glossa. C-Mentum, D-Labial palp
A-fr@ge&c’j. B-:’:i:r‘EP Cbodomn, D-esths ﬁgﬁj;oﬁu

i
A-Mentum, B-Palpiger. C-Glossa, D-Labial palp
y A-Jooben, B-Fdy=d, C-iar, D-e&d &yonoiio
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Correct: 1 Wrong: 0



Identify the sequence of circulation of blood in Periplaneta americana
a) Headsinus
b) Heart

¢)  Perivisceral haemocoel and sternal haemocoel
d)  Pericardial haemocoel
e) Aorta

DOFIEr DO T SERVC ITHoSV HOTD SLIEDFV) Ka8owrdn
a) deof Lo

b) #o@

c) Dorgodoror SRS Db a8 Jof FESTdiw

d) “Jgdﬁa"ij‘f}éza o8 am

E) HoStEHoR

Options:

; ®« c>b—>d—oe—a

, x b>e—>d—c—a
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4% a3Cc—>b—sd—e
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Statement (S) :

Reason (R) :

TEPS, (S):

80 (R):

The corpora adiposa cells perform ‘storage excretion’ in Periplaneta
americana

The fat body contains urate cells which absorb and store uric acid and it 1s
the major excretory organ

DOFIEr @To057I ST OO E TS Fros Jog IBED
QYT RR0.

Ty B0 oot dSarBE §reood ¥ drds BT Fhdn 20w
Qe IV00 B8 JBYSS” Swopg @SDISDMT GH

Which of the following is true?

& 808 FAS° A& JSgH0?

Options:

Both (S) and (R) are true and (R) 1s the correct explanation of (S)
o (5) %0050 (R)Toddsr B850 508050 (S) & (R) 50508 256w

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
5 (S) Hobcin (R)Bodr D50, 570 (S)8 (R) S80S Db 520

(S) 1s true, but (R) 1s false
i (S) S8z, 570 (R) eddgsdon

(S) 1s false. but (R) is true

4. W

s

(S) eddgdm, 520 (R) d&gdw

Question Number : 57 Question Id : 492863697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Abingdon tortoise in Galapagos islands became extinct within a decade after goats were
introduced. It 1s an example of

moFdR GiFrod’ JDoAES o8 STusre0d” @odoldFHlot sdndn & Mrod

o PITRin. 26 B8 Gorirdasn

Options:



Competition among unrelated species

- SJ@K}J 2Tl e 5’.1:1@55 ﬁﬁéﬁéaﬁsu

Competitive exclusion

o FEES00 ST 00D

Competitive release

E‘J‘éﬁééﬁ Ll

3 R

Coexistence better than exclusion

o Do&TPonoy EoB JFLISD

Question Number : 58 Question Id : 492863698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
‘Gemmules’ are related to

“Bhargdy’ B8 D000
Options:
‘Endosmotic bodies” produced in some fishes to withstand the salt water in sea

| % P08 W8S vdw PraQ) StnFhds JNES ©odd (EaTPdd Ao ETed

> R

Aglomerular Kidneys i euryhaline animals that help i adjusting the changing salinities
1n the sea

S3r8Tr8n EPo ool DS’ Srdhdd) vde mEdoh 5008 EsiTds
Ko Sird SarEhomes
3

Asexual reproductive bodies produced by freshwater sponges to tide over the
unfavorable conditions of summer

Jowrseod’ Hasre Hiodgy Lok i Bk HodlE SjozEer JGEHEHT

©BoNE &S oy



‘Gelatinous cocoons’ that protect during winter in some terrestrial animals

Frdd dHod o5’ JEd L‘Jﬁcjcéo b I Bren
4 ® '
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Van't Hoft’s rule states that

Options:
1. %

With the increase of every 10°C temperature the rate of metabolic activities become
half

pslE 10°C ﬁ@;tﬁé 28AS mi@oﬁr’ém T S :«:’ri_?m
2 W

With the decrease of every 10°C temperature the rate of metabolic activities doubles
8 10°C &S 808 £38a5rdin BEodrd

i

With the increase of every 10°C temperature the rate of metabolic activities doubles
$8 10°C s 2008 £58airdin BEodtH&
4 %

With the increase or decrease of temperature there is no change in metabolic activities

QS DOAT BT SNT SSETBEND 008 Sy ok
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Following statement holds true for ““Cori cycle”

50 Je0dird8 Dowofold HOI 5“533352‘513 128 owdasw
Options:



=

Glucose to lactate in Liver and Lactate to Glucose in muscle

sTEgihod’ ?’ijjg‘ﬁ;ﬁou& {.:l*§¢5_§c S0bcdhn oddos® e.:l“?cf S0 HrsE S’)J?fi:;;]

Glucose to lactate in muscle and Lactate to glucose in Liver

Eoddos® i‘i:;jé"‘z'é_ Sood e.:l'*%ﬁ_‘éﬁ_ So8osn r8ohos” u*ééf So0d Krs'E S8

Glucose to lactate in the stomach and lactate to glucose in the intestine

ETH000S* KrEE $108 BS 50050 DS TS H08 KPEE St

Glycogen to glucose i the Liver and glucose to glycogen in the muscle
sZ8cdod” Bfas Dod Ar8'E J0Ba Soddod” Arf'E dood N2 N8
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Total Lung Capacity (TLC) can be calculated by the following

TG DS FB0Zgn (TLC) & & Bod 3DEGm0sn oo 8,085

Options:

1 ®

o R

ERV+RV

TV+IRV

. v ERV+IRV+TV+RV

4 ®

TV+IRV+ERV
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Match the following

List-1 List-1I
(a) Atria (1) blood pumping chamber
(b) Myocardium (11) blood recetving chamber
(¢) Coronary sulcus (111) Heart wall
(d) Ventricle (iv) Atrio-ventricular groove

$08 T8 wEDHCVok

a AL | e - 11
(a) ESosoe (1) &5:Q) Dodod 8
(b) Hydoh Sodd Sodigdon (i) &8 e 8g
(€©) SyScH PSS (ili) SmysoH /e
(d) =588 (iv) ASBr-Joikegers ma

The correct answer is
58 oS 2o

Options:

@ o © @
LG i) @ @
@ o © @
oo (i) (v @) (i)
(@ @ (@ @
Jx () G) @ (i)
(@ @O (@ @
ax (v) (m) (@@ (@
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Correct: 1 Wrong: 0
Which of the following pathway converts ammonia into urea in ureotelic animals

OrOBrEOF LPos’ J Sooho TT BIrYIGT cLFOWEFT SrdBosi

Options:
Ornithine cycle

-~ @%&35 Sedio

TCA cycle
o TCASoodho

Corti cycle

5 % 50 JSedio

Nitrogen cycle

L% See Heodo
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In humans which one of the following pairs of ribs are called floating ribs

ArPRYNG” & §od TEST E’iéﬁé Dise zdww 0D
Options:
15t to 7t pairs

| % 100 Taden

8™ 9™ and 10® pairs

5 % 8,9 D00a%s 105 28

11% and 12% pairs

, o 115 58050 125 ages



Last five pairs

4 % WIO S =den
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In a car accident. a person lost the speech and 1s unable to swallow the food. What could be
the reason

&Hdo Hoboin wFEe oihda 28 Qdﬂ&.‘é&. &8

EA

2.8 :}55» 50 (Pardod” Soréd
50 AN

Options:
Abducens motor nerve was damaged

. ® vy W) TOETE BEFNE0

Vestibulo-cochlear nerves were damaged

. JPe0gd -578aird Tré BAFIE0
2 i v

Hypoglossal motor nerve was damaged

s o m“‘:}':g TG Tolad RGPS

Trochlear nerve was damaged

A% edrsTd BEFPSE0
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Match the following

List-1 List-1I
(a) Pituitary (1) Calcitonin
(b) Thyroid (11) Epinephrine
(¢) Pineal (111) Vasopressin
(d) Adrenal (iv) Melatonin

Eod TBY 28588

el -1 e -11
(@) %ol Hod (1) =LA
(b) Borow& @Wod (1) DI @
(€) 2SS Hod (i) TRV
(d) b5 WHod (1v) Sooisds

The correct answer 1s
08 @oXd Larew

Options:

@ @® (© @
L x @ @) (>)  @Gv)
@ @O @© @
> % (i) (@) @v) ()
(@ @® (© @
Lo @) (@) v (1)
(@ @® (@© @
4 » (V) (i) () (@)
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Correct: 1 Wrong: 0

In the following schematic diagram explains the mechanism of cell mediated immunity
where an Antigen Presenting Cell (APC) is interacting with a T-helper cell (Ty). Identify
X" and “Y" 1s this diagram

Seo D08 &' AT PESE JowoodS dirogrord) & §od DLdw DHB08. &IS
D8 238 S08E gdn (APC) T-550%h 878 (Ty) B, & Hdwed® X Hdodn
Y od hBothdn

Ty cell
Ty Ee0s

Microbe

Antigens TCR
(L85 en

Options:

. % X-MHC-I: Y-CD4
, » X-MHC-II: -CD4
. % X-MHC-II- Y-CD8

. ® X-MHC-I-Y-CD8
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In human male reproductive system. identify the sequence of passage of spermatozoa
a)  Semuniferous tubule

b) Vaseffentia

¢) Urethra

d) Vasdeferens

e) Rate testis

f)  Epididymis

g)  Ejaculatory duct

s

h)  Vagina of the female

SO PSR PEgES f}géﬂ@tﬁ” Do Polrn SO o) Hofowiahn
a) HEFEE T

b) DETEw0

€} PEsm

d DETE

e) &8 ook oo

f) DB

g) Hod T

h) R_u, B B0

Options:
| # @23baesdare—sf-2g—h

, x d>escob—sa—s>hsfg

2t d>eHD3Fad>p—>c—h

in Ie2g5h>a¥b—re—»d
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Aminocentesis helps to detect

Options:

Infertility

, x AIDS

Cervical cancer

i ﬁﬁ;ﬁoﬁi:a Soopagd 57gHo

Prenatal test to detect genetic disorders

I f‘iﬁ;% FHPS® adgS' o o8I Agido
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Match the following
List-1
(a) Downsyndrome

(b) Edwards syndrome

(c) Patausyndrome
(d) Cri-du-chat syndrome

8o T8 agHSTok

erd)er -]

() &S DoES

(b) J&§ do@w

(€) 3J& Do
(d) @-&%-od do@

The correct answer 1s

00 LoNN 2=are

Options:
(a)
,x (@)
(a)
s 1)
(a)
. o (iii)
(a)

4 % (v)

(b)
(iii)

(b)
(iv)
(b)
(iv)

(b)
(iii)

(¢)
(iv)

(€)
(iii)

1

(c)
(1)

(d)
(11)

(d)

(d)
(11)

(d)
(1)

(1)
(11)

(111)
(1v)

(1)
(i1)

(iii)
(1v)

List-1I
Trisomy of 13% chromosome

Partial delection of short arm of
chromosome 5

Trisomy of chromosome 21
Trisomy of 18% chromosome

e -11

135 |8° 380S0 @'@"ﬂj

58 FRrE g’ SJK}Q 2oy rgsorm
TSN dod
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Question Number : 71 Question Id : 492863711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Match the following

List-1 List-1I
Blood Group Clump formation with
(a) AorAB (1) anti B serum
(b) BorAB (11) anfti A and anti B serum
(c) AB (i11) no clump is produced with either of
the (A or B) antibodies
(d O (iv) antiAserum

Bod TE 2SBEB0s

erde -1 erda - 11
g8 Q%0 m:ﬁthéﬁz‘aﬁw
(a) ASwm AB (1) os»08s Bdd&o
(b) Boo AB (i) oS08 ASBosn osrodd Budoen
(c) AB (iii) A Sz Bovoe pedstod’ ﬁnﬁtjééea 2SREFHL
(dy © (iv) odrot3 Adbo

The correct answer 1s
0D Lo 3IEN

Options:

@ o © (@
L x @O () @) (@)

(@ @ («© @
. w () () (1) (1)

@ ® (© (@
Lo ) () @) (i)
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Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Hyperkaratosis (1) Sex-mfluenced inheritance
(b) Hypertrichosis (11) Sex-limited inheritance
(¢) Beardinman (i11) Y-linked mmheritance
(d) Baldness i humans (iv) X-linked dominant inheritance

Boh e 2EB8b0d

i -1 erde - 10
(a) 13"335 BUETT0R (1) Ool-Perad wddolgs
(b) 56 BEWS (i) ©oK-50208 ©SS0IES
(€) PODoS® Hgtn &L (i) Y-0&rer) osobossd
(d) SoSHNS* aLido (1v) XSFof) airdd edodolsd

The correct answer 1s
ol mows 25720

Options:

@ @® @© @
px (1) @v) @) ()

@ @® © @
o % () @v) () (1)

(@ @® (@ @
;% (V) () (i) (1)
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Which one of the following application is not related to DNA finger printing?

DNA 208 o080l edddaros® $05°08 2672
Options:
Inheritance pattern of gene through generation

i Dy doredst .8 Ba:‘aoso"gj SoED OB AP HHN

Study of ontogeny

5 o godiTan EC;SFSD{EDE{JM

Establishing paternity/maternity more accurately

P 280N [ ardyEid) puydorr QTlothd

Protection of Endamgered species

4% Qe EIw SodBe
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Correct: 1 Wrong: 0
Experimental verification of chemical origin of life was successfully proved by

ot plow el m"‘ﬁ“ﬁh@ H8errdo (DArTR) DecNogoT JEFDONIBIS
Options:
Louis pasteur

o
. i wwﬁ"*ﬂu



Charles Darvin

J.B.S. Haldane
o JB.S. ‘s’.ﬁ§5

Urey and Miller

0308 So8osw oed
4 & R

Question Number : 75 Question Id : 492863715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Identify the sequence of evolution of Homosapiens
a)  Rama pithecus

b)  Homo habilis

c)  Homo erectus

d)  Australoe pithecus

e) Homo neander thalensis

f)  Homo sapiens

TURIr VDADY) 2rSH Hdrdy 8

f&

a) TTAr DESD

b) SFFFr TDed

) SFAr Jo55

d) GPS” HEED

€) ST QOGS TTQ
f) FBr DO

Options:

# a—-b—osc—-d—oe—ft

s o d—3d-3b-ve 851
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Match the following

Bod TEY uSHEB0s

List-1 List-1I
arde -1 erde - 11
Graph Type of phenotypic distribution
e S8 dsTen
(a) (1) Directional selection

3 gindg 280

(b) (ii) Stabilizing selection
?{ga E8m S0

(c) (111) Disruptive selection
S8 280
(d) (iv) Newly evolved population

Sdmr J8egrdoo Bold sy

The correct answer 1s
HDE o Baew

Options:
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In MOET (Multiple Ovulation and Embryo Transfer) at what cell stage embryos are
recovered non-surgically and transferred to surrogate mother

¥ wodEdo, Dod 206 FossEsS® DEm BIS &) DoFOD ééﬂééﬁjﬁ@ DT80

oo WEGOD wiYLo ﬁD’:%oﬁJfD&@ﬂg AroTd

Options:
% 6-8
> ® 8 = ].6

o, % Zygote (500508 Dexiw)
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With reference to ECG. match the following

Set-1 Set-1I
(a) Enlarged Pwave (1) Hyper calcimia
(b) Prolonged Q-T mterval (i1) Tachy cardia
(¢) Prolonged P-R imterval (111) Brady cardia
(d) Shortened P-R inferval (1iv) Myocardial infraction

(v) Enlarged atria

ECG & $02008008 Bod T8 2858008

e | erdo 11
(a) 8AS P gBokSn (i) %6 SO0y
(b) Q-T &Yoo 2BAB (i) &8s godr
(¢) P-R&doko 20ad (iii) @rés gass
(d) P-R&oro 659,38 (V) HBrsgonS a8 FEES

(V) 2008 808en

The correct answer 1s
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Correct: 1 Wrong: 0
C peptide 1s mainly present in

L BAS" HuPgorr Gotnod

e/
&n

)

L}

i

Options:
Proinsulin

| v & Q)0

Insulin

5 % E’-i?fl?j@ﬁ

Cham A of nsulin

2w aéﬁq&@ﬁ cﬁxjéﬁb_ A e

Chain B of insulin

" 2500 GB08), B fFenido
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Match the following
List-1

(a) Carcinoma

(b) Sarcoma

(¢) Lymphoma

(d) Leukemia

Bod TBI 28HEBs

erde -1
(@) 58y b
(b) &) &
() Soxdsr
(d) eog8doass

The correct answer is
58 eond aaen

Options:

@ @O (o)
pow (V) (1) (1)

@ @® (
, (i) (1) (i)
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v @) (1) (@)

@ @O (o)
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(d)
(iii)
(d)
(iv)
(d)
(ii1)
(d)
(iv)

(i)

(i1)
(iii)
(iv)

(1)

(i1)
(iii)
(iv)

List-1I

B and T Lymphocytes
Connective tissue
Bone marrow cells
Epithelial tissue
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Question Number : 81 Question Id : 492863721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the Set-I with Set-11

Set-1
(a) PLANCK
(b)y LIGO

(c) Large Hadron Collider
(dy ITER

DE8-I Q JEE-IIE 2SS0

5]

f

The correct answer is

HE Lo Baren

(i1)
(iii)
(iv)

(i1)
(iii)

(iv)

Set-11

Gravitational waves
Nuclear Fusion
Radiation from Big Bang

High Energy / Particle Physics
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ﬁad&és SEormen
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Options:

(a) (b) (¢) (d)
px () @) @ @Gv)
(a) (b) (¢) (d)
., x (O (i) (1) ()
(a) (b) (c) (d)
s » (1) (i)  (@Gv) (i)
(a) (b) (c) (d)
L (@) 1) v (i)
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Which of the following physical quantities set has different dimensional formulae

Bod a8 T°EE TrdHe HGES' S IH W8 Foren o TrHe
Options:
Angular Impulse, Planks constant. Stefan's constant

. Sedoh (B TES80, Fof Joroddn, RIT JoroFEw
1. L0 > o

Energy density, Wave Intensity. Stress

8 o dd, S0k 8K, P8nedw0

Radius of gyration. Angular displacement. Rydberg constant

FoaS Tgrdino, §eckh ydgodsn, d&ad Joroshn

Velocity gradient. Acceleration. Gravitational Potential
S (Ddead, Sedeadn, Koddr FBICHS
4. ¢ =
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The equation of motion of a particle is given by x(r) =2¢ * 4+ +4t . Then the average
velocity of the particle between the time = 3sto r=5s1s

28 o) K508 BDo8bwo X(1) =267 +1° +41 I aB5waSE. =35 508abo 1= 550 DGy
e o) Dk 3o

Options:

; = 100 m/s

- 110 mv/s
s % 90 m/s

, = 140 m/s

Question Number : 84 Question Id : 492863724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Consider a ship traveling due east along the equator with velocity v,. If southeastern wind
blows at an angle of *¢ "to the equator with velocity “v’, the wind velocity relative to the ship
v'and the angle between the equator and the wind direction in the reference frame fixed to
the ship are

grogdy B Joad SrENBIS® a8 5 VpIod® KPasrediyod. ey Spd ‘¢ Smods’
&gea- Sy B35 HISE V' Dos® DY, TEHGorT HHSIKo V' HBoin srddie,
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Options:
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A cannon ball is fired from a building of height / at the sea shore with a velocity v at an
angle of orupwards from the horizontal, targeting a ship at a horizontal distance of S from
the shore. as shown in the figure. If “¢’ denotes the acceleration due to gravity. tan o
governed by the quadratic equation 1s

28 Doh 208 JJNESTAE h IfKe FSdow Dod V Iod’ §8e JdrodTlE a
Sodnd® 850 $od S g8z S5rodd $r8od® Ko Tid HBUrd W TH. g ©Is

?‘bd)éog &oea0 200, tan o B Howofotds L‘ﬁiﬁ D€ 8 S0

h
Options:
oS h s
£ _tan’ @+~ tana +=-- =0
, w2V s 2v
3 h g5
& —tan”’ @ ——tan@ +->--=0
, % 2V 5 2v*
8 os |
gj tan" ¢+ tanax + =———=0
5 % 2V 2ve s
R s h
& tan’a—tana+-=-2=0

2
- v s
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A girl throws a stone horizontally from the roof of a house 12 m above the ground with a
speed of 15 m/s. Neglecting air resistance. the time it takes for the stone to reach the
ground is

w8 O dodbn od 12 madiShie R0 kS éLj 00d §Gaddrosdonr wl Tond
15 m/s 3&S I08T8. md ISP BBH0F0D, & Tron Frdod BIES S 5700
Options:

;o 13978CC

> x 3.1 sec

5 % 2.34 sec

4 » 410 sec
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A rocket 1s about to launch upwards from its platform. The engine ejects gas at a rate of
2100 kg/s and the molecules are expelled at 50 km/s. If the above condition 1s just sufficient
to make 1t rise upwards, the mass of the rocket 1s

(Assume g = 10 m/s?)

28 IOED Sood P BIST J0DErAE 8 o788 o edd. T dfo@dw 2100 kg/s
Bend’ md Ho8cin wenHoso S0km/s & wohdods Hobdd. & Jwods Sdwo o788 8
QBETVE DOFB, TBE \B350°3

(g = 10 m/s? o387 5050)

Options:

12.6 ©x 10°kg

1 %

, % 15.5% 10°kg

. % 9.8x 10°kg
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Three blocks A, B and C of masses 1. 2 and 3 kg, respectively are attached as shown in the
figure. The force of 30 N is applied to the block A so that the system as a whole moves to
the right with constant velocity v. There exists friction between the surface and the blocks.
Then the contact force exerted by block C on B 1s

§ob SLo® Wrbddgon 1, 2 Sobodin 3 kg @hgorden fo A, B Hdcin Ces 6o
OB, & DS Sg5P $8 8IS 0 RS Do VS ooty Awd &3y 30N
20eQ) RAErACNTR. S8 ANt DPgHod wotwod. C ady B &) 2 §0n0S

3ke

30N

Options:

1.

2.

=5,

4.

x 4N

8N

®

x 12N

s 15N
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Consider a 50 m high water falls. with water flowing at a rate of 1.2x10° kg/s. Using the
power generated due tfo this process, assuming 100% efficiency. the number of 60W bulbs
that can be light up is

50 m J&y Ko soddos® 1.2x100 kg/s Bens® I HITH208. & HiBoH S0 230wk
Fdod o tHdErnion JQ) 60Waaynods 300kt (@B d8d 100% ©ko8"80kw)

Options:

v 9.8x106

> 5.88 x 108
. x 9.8 x10°

, = 1000
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Assertion (A) : In analysing the problems of inelastic collisions, the law of conservation

of momentum and the law of conservation of mechanical energy are to be
employed

Reason (R) :  Since the laws of conservation of momentum and mechanical energy are
fundamental laws, they should hold good in any situation.

IS5 (A): eRBFSE ePBrasve SIvgos JFNoBLYE (BIBH dSgESw
58050 Sro@E ¥§ IS5 BrEO TEHEE
50 (R): $Sg3N Qefgehg Hodo¥n o8 8 Jggds SoEgren (S

drgrodhody ©d J $odHInGE BT @dBhIon

Which of the following 1s true?
& 8o TAS® AG HSgH0?
Options:
The (A) 1s correct but the (R) 1s mcorrect

, (A) 383058 52 (R) $0G3058 57
1



Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)
. (A), (R) Bodr 28a0&3, (R), (A) 8 585308 IS8 20308
e

z ®
Both (A) and (R) are correct but the (R) 1s not the correct explanation of the (A)

(A), (R) Bods 3053083 57w, (R). (A) § 385308 JH8e0 5760

Both (A) and (R) are incorrect
- (A), (R) Sodr 2853052 579
4
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A hardboiled egg (H) and a raw egg (R) are both spun on a flat table. They are stopped
momentarily and released immediately.

Which of the following statements 1s correct?

w8 GEEBES 1 Farkdy (H) Sodosn S0 §akd (R) 3080 a8 ddde neD
&G, EBgorr O B Iobd IGTH
808 TAS® Q BB HBBKH?

Options:
(H) remains stationary whereas the (R) starts spinning again

el (H) @om wodnod. (R) Sode &8ido @rdoddnod

(H) spins again whereas (R) comes to a stop

_ x (H) 5580 8806808, (R) sndrésos

Both (H) and (R) come to a stop
- (H) J08050 (R) e Bodr eshi¥aromn

Both (H) and (R) spin again
- (H) 508080 (R) e Bodr ode adiherown



Question Number : 92 Question Id : 492863732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A turbine requires 10 sec to go from its idling speed of 1000 rev/min to 2000 rev/min. The
number of revolutions it makes in this period 1s close to

o8 LOBS T 0 S& 1000 rev/min Sood 2000 rev/min 568 PS8 10 sec e
HES08. & 5o’ b Rodw Fherre dopg LSPGO

Options:

.o 230

o B 3].?
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A spring stretches by a distance x when a mass m 1s hanging from it. If the spring undergoes
simple harmonic motion when a mass 2 m is attached to this spring. then the period of
motion 1s

mES5T3 w8 @)ohss I dbRsHd, & Yo x Srordsd Fhdob. & Eyohis 2 m
BSgo°B BODIYE, @ (ol SEETTE)8 Sodo Boddhod. Y & ol eBIGHSW

Options:
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Consider a space ship launched into a circular orbit close to the earth's surface. If the

: g ; [y M [2yM w
orbital and escape velocities are given by vy = % and v, = }’T . the additional

velocity to be imparted to the space ship to overcome the gravitational pull 1s

drdy GH08erl8 SHdT &8 5)@E8 BESTE o8 S E0TESD Sobdard. o 8878

M | 271
P ot Vg
R "\ R

fodiagden o werd) eiAoTSB50T, & GPGh TEH adci0dd 9855 Ko

D0BC5H HeraHd Imen [ V= T Q02085

Options:
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Elastic strain energy of 10 J is stored in a loaded copper rod of cross-sectional area
2107 m” and length 0.2 m. The Young's modulus for copper is 125 GPa. The load on the
copper rod in kN 1s

02 m e Dok 2x107'm’ SoEgHE Jrogo 5OA, o S b ooh §§s° 10T o
RBTHE DEYB 78 HoDSKHH08. T cHof Hbo 125 GPasans, ooh §§ FoHSONS
8o kKN o&

Options:

, % 16

=" 30
T & 4{}

4 v 0
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An aeroplane with wing area 100 m? is travelling in a level flight at a speed of 800 km/h.
Using sensors placed on the surface. above and below the plane. it has been deduced
that the speed of air above 1s 10% higher than that of the below. Assuming density of air to
be 1.5 kg/m’. the mass of the plane is

100 m*38), Srrogotie o8 Srssn 800 km/h S&&° §8a SSrodborr mOS® Hasrsitos.
DIrIY 2 D00 Fob edddored i wi@rAoN 7Y D PN Mo
56 o Bod grifod’ MmO S&80l 10% I8y S &t Bond. md od 1.5 kg/m’
eFo8, JSrSGd5oe

Options:
. = S0 ton

>« 14 1ton
5 » 100 fon

4 % 60 ton
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Two metal plates each of dimensions 20 cm * 50 ¢cm and thickness 2 nun are soldered
together as shown in the figure. Let the first plate P, 1s at 100 °C and second plate P, 1s at
—10 °C. If the thermal conductivity of the two plates is K, = 44.6 W/mK and
K,, =554 W/nK. then the heat flow through the plates at the soldered junction is

-2

0 cm x 50 cm $85readooen So8odn 2 mm Hoddn e Bod S0 Hodad dHtos®
Dl Ao Losdn THTS. IweE Seod Py, 100 °C Sﬁié 00cin Hes P, -10°Ce
5¢ eanjow. Do Jeofe ﬁr{%aﬁeﬁ'ﬂééﬁmﬂa SEd/m Kp1 = 44.6 W/mK $08c32

K,

£A

=554 WmK eon3, 908008 38 dose oo @oirod whmn

(5]

Py
’ b
TE2>
N < @
50 cm ?
Z
7%
Z
Z
Z
! /?
7
N / f
k.
Options:
.« 136 KIfs
> 3kl
. x O klis
. % 100 KJ/s
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Two 1dentical shaped metallic spheres A and B made up of same material of mass ‘m’ and
*4m’ are heated to attamn a temperature T, and then they are placed in a container maintained
at temperature T, (T, <T;). The spheres are thermally insulated from each other. IfR 1s the
rate of change of temperature. then the ratio R, & Rz 1s

G3go°3 ‘M’ 0805w 4m’ © Ho Bod &8 IFIS ©57850 §0h &8 STrgSind Dohadd
Fereo ASBoin Bod Ty eiifd ol 88 3680 578 a8 T, (T, <T)) 3¢ Heo
FES GoATH. e w8 Dod w88 wuodddn MAoT0EIs. sPUSS'

Srdoin R edoFod, 38 Ri ] pess
RB

Options:
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When 50 / of air at STP (Standard Temperature and Pressure) is compressed isothermally
to 10 /. the amount and direction of heat exchange of air 1s

[ Use P,,,, = 100 kPa and In (0.2) =—1.61 ]

STP (&8r88 ePds diarew) ¢ Ko 50 [ mdd 10 ] & s3rgeer Hodbdssn
BoBORSYW 2IH GRIVDHH DTSN HOSH Bien
(P, = 100 kPa, In (0.2) = -1.61 rm &8 %050)

Options:



8.05 kJ flows out
, 805 Kl okt @508
1.
8.05 kJ flows n

8.05 kJ &°08 (55576308

5 kJ flows out

5 kJ exafoto®o 9558006

5 kJ flows in

L u 5K o%8 ©B5rsg0n
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A vessel of volume 2 litres contains mixture of N, and O, gas kept at temperature 27°C and
pressure 2.5 atm. If the total mass of the gas mixture 1s 6.0 gm. Calculate the mdividual
masses of N, and O, in the vessel. respectively a [Use R = 8.314 J/mol K]

2 68 PoBBBETBI0S) eSS’ N, 500000 0, TckoPe s 27°C 58050
2G¢SS50 2.5 atm Ked. Trofn MEFdodn Guof), Judsn GBHgod 6.0 gm FES'Y N,
Do 0,0 DENG (Gagoden H805m (R =28.314 J/molK m sdodn)
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A 20 cm long cylindrical column of radius = 2 cm is closed at one end and open at the
other. The fundamental mode of this column is resonant at frequency f. The amount of
water (m/) that should be added to the column so that the fundamental mode of the new
column is resonant at frequency 2 f 1s

= e
30D G5B, & JouH FEDE 68 FISYSE0 5§ VHTEINS' GHB. & Pord
@08 68 2 fFsdTrgls odardod’ ¢ods8S08, & $0emd8 THBORS A& H8S0rea 50
(ml)

Options:

107w

20 cm 2rd Jo8cln 2 cm Srgrgolio af SR Fogdn w8 Y o H&E I

1%

20w

> ®

5 401

Ja 160
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A point source 1s located at a distance of 20 cm from the front surface of a symmetrical
biconvex lens made of glass (n=1.5). The lens 1s 5.0 cm thick and the curvature radius of
its surface 1s 5.0 cm. The distance at which the image of the source formed beyond the rear
surface of the lens is

n =15 3585550080 Ko mad So5rHBdS L ABBcE0rE Y ELE Soodood 20 cm
&80 2.8 Dok a2dfo e, & BLEY Hoddw 5.0 cm Hdcdn do JEe TgAEhn
5.0 cm. §LEYH I8 Swo sI80IY Jod Grdod” PWEDoHW Dfﬁgé&:ﬁa

Options:
| » 625 cm

5 w D25 Cm

- % 4.50 cm
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The focal length of the objective and eyepiece of a compound microscope are 3 ¢cm and
11 cm. respectively. If an object is placed at a distance of 5 cm from the objective and the
least distance of distinct vision 1s 25 cm, the magnification produced by the microscope 1s

28 Joddng Srf)df)Ne” SuEbEo Hdcin wiibiow Srprgodoren 8 3 cm
Do 1l emm &d)D. 28 H2Ydo SELEAE 5 M Srdod’ oIV T RS)A
BA% doro 25 cm @008, & IrHEH0 S8 Dok BIgIHsw

Options:
Liu 245
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A light source of wavelength 580 nm falls on a single slit of width 0.3 mum and gets diffracted.
For a screen kept at 2 m from the slit. the width of the central bright fringe is

qSUmllééuﬁE%uﬁﬂ o8 0.3 Illulﬁéﬂ::ﬂ e Qéuué@_} H& DBHY5H0 BobI. WOEH S
2 m Erdoes” Gotadd B8R W Sofak g8k HiE Ided

Options:
L 7.74 mm

o % 2.87 mm

5 x 1.93 mm
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Four electric charges. each of charge + q. are placed at the four corners of a square of side

4 cms as shown in the figure. The direction of the force exerted by the charges at B, C and
DonAis

w888 + g sJdode Toh ASgTrITodH dLos’ Srod o 4 cm Hzode
SO EY T oo’ Godad. udTe B, C&odn D w «3do AD
Seoni@doin e &%

A 4 cm D
q q
4 em 4 em
- q =
L
B 4 cm C
Options:
1242-1 . : . , . .
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E'JE +1

AB & e5ddg &3St Tan™!

20 g
32 41

§'e°Q) BXob
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2+

/3-8

232 +1
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SerrQ) Bdp 355 6FS” Gotwod

\
7
Tan™ [l 2J: 1 clock wise direction

Yl 2
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i _]. . . & - .
Tan ' X2~ in anti clock wise direction
T Ex
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A parallel plate capacitor with circular plate of radius ‘R’ and distance ‘d "apart has a dielectric

. ; ; . R ;
medium of dielectric constant 5 upto a radius of e from the centre as shown in the figure.

The capacitance of the resultant capacitor 1s

28 $EEE Sdrodd Jolw TPILEHS® Hufw ‘R Tgargsn 804 d’ Erdos” Jdor

I-J|b:|.

. He10eS® GBrHdJLom ﬂcﬁoséﬁ‘iﬁéo o @8 oSrdBody HoFsododood
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Option_s:
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Two copper wires A and B are measured to have same weight. If the wire A 1s 25 times
longer than wire B, the ratio of their electrical resistances (Ry/Rg) 1s

Soto oo afen Adoin B o FOOSHEm o8 adpds §8A tamon. B &isod Aed
253t FEIIG wondY, T8 Jdgs AdGow NG (Ry/Rp)

Options:

% 0.04
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The capacitors in the circuit shown below are charged by keeping the switch *S” open.
The amount of charge passing through the segment AB of the wire when the switch 'S'
is closed is

Bod Brdd Soohos® IFPHLEH WL ST 0D uIFsn T, Hb 'S Srd

L4

L

GOy poddn AB o D00 e3¥hn Jew

15V
| |
II
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Options:
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The magnetic induction of the field at point *0” 1f the current *7 * carrying wire has the shape
shown in the figure is
(The radius of the curved part of the wire is *R" and the linear parts are assumed very long)

SLod" Srdd esdofo 8hhom 17 Agd HIrdn PIToNSHE 07 DoPHSY
bdgéa VoL, 08 (280

(Sg8ro orerdy agrdo ‘R’ S0805n 3PadH & rmen T FEID @lE o)
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An electron moves in a combined electric and magnetic field. the electric field being
1.5x10° V/m and magnetic field being 0.75 T. If the resultant force on the moving electron
is to be zero. the minimum velocity of the electron in ks is

28 JoFS Booing Ags Sodokn wohamod FETed’ Pairsddyod. vahI o8 Jgo
0.75 T So8as0 dedogd 3o 1.5%10° V/im e eranyow. $o806™) Jogrdp HAdsw
20800 WY VHLE, & JOFHE GodIOVS AR Iro km/s oS

Options:
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Consider circular loop of radius “7’and *N * turns with current ‘7 * flowing through it. The
loop 1s kept in a region with magnetic field of magnitude *B’ in a direction which makes an
angle ‘8 with the loop (as shown i figure). The magnetic potential energy stored in the
system 1s
7 argaRrdian $08a8n Nt o a8 5)EEd el o 1T AdagS [Hariro (RDHirgeh.
NS edhd) 08 BI¥ H0Srwo B o @RFoe” HLdnd’ Grbd ddomr tinsg” ‘07

o0 DSy BES® SGodT . & 3’}55’35}@* Qo ey wokbarm od “gé‘aaa?:fé
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' N such tums
Nuwomodd ﬁjmﬂ
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- it > 1‘
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- o
¥ X

Options:
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A conducting bar of length 50 cm rotates with a constant angular speed of 100 rad/sec
about a pivot at one end. If a uniform magnetic field of 0.1 T 1s directed perpendicular to
the plane of rotation. the emf induced between the ends of the bar is

50 cm FEHRo wf TE Soddn T w8 Dd8do Dodoy Som 100 rad/sec

RIS Wedn Boldod. o s vondis” 0.1 T vchanod 3E )
80N, & dody Ddde Doy I (@08 D.3.e.

Options:
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@ 125V
o8 A5V

L % 275V
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In the circuit shown below. the capacitor is charged by keeping the switches S, closed and
S, open to a potential difference of 10 V. The current in the circuit at any time. when S; 1s
open and S, 1s closed producing a potential difference of 5 V across the capacitor. 1s

Bod bl Sechost, by S Jurd Ho8cdn bbb S, BB 28 TFRLHS 10V
PEYCHS T8 wRFshn BT, wé S 00 DO b S, HarddHd
3rotd DSde 5V rBJYchd Bdo D{ﬁg&‘é&’;}}é&, & Seofod® ﬁs*-‘moéﬁé@am &OG
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Options:

SiII[EJ A
2

Question Number : 114 Question Id : 492863754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A plane harmonic EM wave with plane polarization propagates in vacuum. If the electric
component of the wave has amplitude E;; and frequency 1s v. the r.m.s value of
displacement current density is

TRgod’ w8 dddo (oSN Jdodo EM &dolio Rairdothihd)d. E8oiy dogs
©0¥Y BoDIDBBIS Ly $08050 DdeYRdghn v wondPds, ydgod JBogd RIS Froldd

- 21 e, VE, sin(wt)

i J2re, VE, sin(wr —kx)
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A monochromatic 633 nm laser has a power output of 3 mW. The number of photons emitted
per second by 1t 1s

28 633 nm JESE BSad wedS FHgso 3 mW sond, Sad ok P& HElS”
end&E Ferd Jomg

Options:
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The primary finding of the Rutherford’s experiment was that

ErE65g BR=ho BwE) TrdE esdd O
Options:
alpha particles have a positive charge

@@Qéwm @Tﬁ??ﬂ 0/ Golron

alpha particles have electrons

BoMEred JoETa ol
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alpha particles do not deflect from positive charges

gonrw JTaTedy Jdvdo T

atoms have a nucleus with positive charge
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A 57600 W nuclear reactor has a nuclear fission rate of 1016 per second. If the energy
released per fission 1s 200 MeV. the efficiency of this reactor is

28 57600 W08 805rg6e® Soisé 29830 Bén 1016/sec. (68 298" 200 MeV o
8 Do wond, & BASTEE SES

s,

Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The logic operation of the circuit given below 1s

8§08 QJ2ED Jodh) 48, moroddn
S & ) U le

Options:

; » OR

NAND
2 ®

5 % AND

, v NOR

Question Number : 119 Question Id : 492863759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The output ‘F’ of the logic circuit given below 1s

Eo8 2(2ds SH S0 wenESan F

e

Options:

. HXYT



# BT

Question Number : 120 Question Id : 492863760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : For good transmission from a linear antenna. we use high frequency signal.

Reason (R) :

2985 (A):
8o (R):

For good transmission, we need high power. The power radiated by a linear

!

2
antenna is proportional to [?] where / 1s the length of the antenna, v 1s

the frequency and ¢ 1s the speed of light

SPob woBT Db GEM PIo IS @fE FJySgHniio NS Trdied

G850 (DFo°VE w0 ¥8 5758, TPoDH ol Hood Iendds DESs 8%
lv ;

F0ggo = 8 oS IroFESInS” Gododo. 98 & [ 038 sods

DED, v oR0 FSPSgH0 o0oin c wI6 5708 H5b

Which of the following is true?

& 1808 TRS® I BBgH0?

Options:

The (A) is correct but the (R) 1s incorrect

| (A) 38053 59, (R) 98086 560

Both (A) and (R) are correct and (R) 1s the correct explanation of the (A)
(A), (R) Bodo 2000853, (R), (A) 8 58508 Didee 28308

= o

Both (A) and (R) are correct but the (R) is not the correct explanation of the (A)
; (A). (R) Bodr 833053 570, (R). (A) 8 385308 I8 57k
3



Both (A) and (R) are incorrect
. % (A). (R)Bods 508085 53
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Question Number : 121 Question Id : 492863761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which transition of the hydrogen spectrum has the same wave length as the Balmer transition
ny, =4 to n; = 2 of He™ spectrum?

S83ES SdorBg go, He™ SE0L08° A erdod @ed 0, = 4 So0b

= A :j
st ling—2

Question Number : 122 Question 1d : 492863762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

(a)
(b)
(c)
(d)

Bod

(a)
(b)
(c)
(d)

Last=1

Rutherford’s scattering

Heisenberg’s uncertainty principle

Schrodinger equation

Shape of the orbitals

SrEia 2NN
srda - |

Er&éag HO8Dln

TRl wBEr JaSHosdw

Ir&ois HansSeadn

SOrY) ©5)S

The correct answer 1s

D8 oD 2ot

Options:
@ ® (9
1 % (ii) (111) (1v)
@ b ()
>x (O () V)
@ G (0
- (v) () ()
@ G (0
Lo @ @D G

(d)
(1)
(d)
(iii)
(d)
(iii)
(d)
(iii)

(1)

(i1)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

List-1I
Electron position and momentum

Quantum mechanics
Subsidiary quantum number
Nuclear model of atom

erda - 11

Qﬂ@“ﬁ ToNy Hobadw @égﬁﬁﬁm
W P

s cobo alro@8 Fgfm

RIEAE scodoo Dopg

o8 HESTe SHorae

Question Number : 123 Question Id : 492863763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Among the lanthanides (except Eu and YD) the general trend of atomic radius 1s
od3&es” (Eu dodashy Y &) S8dre a7grgl) orde ©9)8

Options:
mcreases with atomic number

DISre0 Jopgd” HHB0H

constant with atomic number

DTdorm0 Sopgd” Q8o 5otk

decreases with atomic number

ol DESore0 Dowgd” Sihdoh

fluctnates (increases and decreases) with atomic number

DEBTe0 Jopgd Aol (DHHEod Hobotn EiHdiod)

Question Number : 124 Question Id : 492863764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For an element (M). IE, and IE, are 178 and 348 k cal mol™. respectively. What is the
energy (k cal mol™) needed for the following reaction?

: 2+ =
M(g} — M{g) +2e

28 Sorosy (M), IE, 5080w IE, oo 5654 178 508650 348 k cal molL. §o8 3855
550®d 4§ (k cal mol! ©¢%) Jo&?

Options:



L % +348

Question Number : 125 Question 1d : 492863765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following species have the same bond order of 2?

1Bod e’ 330 wodiEHsn 2 Kod D?

N,,0,, 0},C,,N}

Options:

4 02 ‘Nj_}_

Question Number : 126 Question 1d : 492863766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the set of molecules whose central atom does NOT obey the octet rule

SoIBE Hodreny) ©%E Johdrd) FEoU wmPHe S8 Hlohbdwn

Options:

o (€0, 5C1, P,

. o PF;.H,50,.5F,
, o BESE SCL

o 1580,.00,.5CL,



Question Number : 127 Question Id : 492863767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The CGS unit of coefficient of viscosity 1s

)i foeagy CGS Hdrgen

Options:
, o Nsmr
-1 .1
cm " S
i 2

o9 TS

. KBET

Question Number : 128 Question Id : 492863768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The volume of O, (in L) that can be produced at STP by heating 112 g of KCIO; is
approximately
(Molar mass of KC10, =122.6 g mol1)

112 g © KCIO; & 3&Bodon ddodens 0,080585700 (L od®) STPIG dodedorr

(KCIO, 3rer6 ($550°% = 122.6 g mol)

Options:
% 201

0 101
2 v 307

L% 402

Question Number : 129 Question Id : 492863769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Calculate the volume (in L) of hydrogen gas liberated at 27°C and 760 mm pressure during
the treatment of 1.2 g of magnesium with excess hydrochloric acid

[Atomic mass of Mg=24]

1.2 go Dhyachods @ TEEOE siod® $EgmAodsHd, 27°C S8as» 760 mm
2T 38, ddoder rEas oy D&HoErery) (L od’) 8§ oo

[Mg 5850 arddn = 24]

Question Number : 130 Question Id : 492863770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

M
Calculate the normality of a solution obtained on mixing 100 ml of EHQSOJ#.. 50 ml of

| N :
gHND3 and 25 ml of ?HCTI solutions

100 ml & EHESCM. 50 ml & %HNO3 %8050 25 ml e ?HCI o Bodi &S
S o 08l B odod

Options:

; = 0.52N

5 o 0.29N

2 % 0.44N

EE UGGN



Question Number : 131 Question Id : 492863771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

If 10 L of an ideal gas at a pressure of 5 atm expands isothermally and reversibly to a final
volume of 100 L. the work done and heat absorbed in this process (in Lit-atm). respectively
are

5 atm S0 3¢ 28 wd8Tainy 10 L Scod 100 L & 334 ﬁ[x:ézra’ne‘:)oﬁa T58°S
©I8o0e” 28RN, {orods wddn (Lit-atm ©d*) SE0H

Options:

. W==115.15, g=115.15

W=115118§ g==—11515

> ®
-~ W=115.15,gq=115.15
o W==11515 g==115.15

Question Number : 132 Question Id : 492863772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a mixture of 0.2 mole of N, and 0.6 mole of O,, 50% of N, reacts to give NO according

to equatiou'NZ(g) +0,, = 2NO,,, ata constant temperature when the reaction conducted

in a closed vessel. Calculate the ratio of the initial to final volume of gases

a8 NEFDINS 023rdw N,508c5x 0.6 3rdo O, sanan. R &Zid 38 8 Jardd
FBS PWEHB0S' 50% N, Bod H08dedn B850 $EgTes NO bé&ﬂﬁo&.

Ny + 0y = 2NO ) Tas0e &8 508050 KB SHoSrao Q8D 8§00

Options:
1 ® 2{]'

> R 05

.

s 10



Question Number : 133 Question Id : 492863773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For the following reaction 2NH,; ) = Ny, +3H,(,,. 2 moles of NH, are introduced

into a one litre closed vessel. At equilibrium, if 1 mole of NH, was left. calculate the
approximate value of K_

ol HEgse
2NHy ) = Nyoy +3Hyy, 2 3o NH, 5 28 dooth Surbis FBS8 SoDom .
20e7R8 58, 1 36 NH, 0Ad08. K, Ga08), S0drth dendds 8§ otodn

Options:

-
5 » 1.69
<o (075

-

Question Number : 134 Question 1d : 492863774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hydrogen peroxide reacts with lead sulphide to produce lead sulphate. Identify the other
product formed

TIFe DoFs, SEITYaE IdgIeh BE ITED AE G0, GBS Lo¥

Bosradgsnds HBoHBm

Options:

O

1 &8 2

o ® HZS

e H,O

PbO

4 ®



Question Number : 135 Question Id : 492863775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Identify the correct statements from the following

a) Liand Mg form solid hydrogen carbonates

b) LiCland MgCl, are soluble in ethanol

¢) KO, s soluble in water and liberates O, and H,0,

E0d JdBed’ H8GSI AD?

a) Lidodain Mgeo H08 el s26hdded J8ythazon

b) LiCl So8csoo MgCl, en 285°SS° dorbarow

c) KO,d8S® tibdod S:8a50 0, $58csn H,0, o ddde Basoss

Options:
1 % & b

, % @.C

3_#,1).(:

o a.b.c

Question Number : 136 Question Id : 492863776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When borax 1s heated during borax bead test along with CoO (Cobalt Oxide) on a loop of
platinum (Pt) wire, it swells up and produces a blue colored bead. Which of the following
compounds is responsible for the blue color?

Sof b 3685, gD Co0 (Ferg e7B)s FEso (P b I63059d ©6
Foh a8 DBord o Fd Wb, & E)E)Euﬁaé& 000 o d30)Fddn §ob Tl
D87
Options:

1 ® PT(BDZ’\}q-

_  Co(BO,),



_, Co(BO,),

, » NaBO,

Question Number : 137 Question Id : 492863777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Producer gas 1s a mixture of

@5,&5&5 r:rgﬁ} G S0 sw
Options:

CO,.N

1 ® 2 2

_ « COxH,

_ o CO.N,

o

Question Number : 138 Question Id : 492863778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Near the south pole. the ozone layer depletion 1s mainly due to the formation of

B8eo (GoNdw :JC_:J 5570 8 dddedn, 38 (3) DU‘:J&.:Q 5*¥e0aw
Options:

Chlorine nitrate

505 38S
T

SO,. S0, and H,SO,

_ & 50,50, 50805 H,S0,

Acrolein
= ® J@*E‘J 5



Peroxy acetyl nitrate
008 J0BS JIBE

4 %

Question Number : 139 Question Id : 492863779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) C+2Cu0—4» (1) Yellow precipitate

(b) .3Na4 [FE[CN) G} +2Fe, (SO,), — (i) Turns lime water milky
(¢) Na,S+Pb(OCOCH, ), - (iii) Black precipitate

(d) 'NaI+AgNO3 — (iv) Prussianblue

ol T8I 28DTL0H0
erda -1 e - 11
(a) C420u0—2 5 (i) 3P So ewSESHH0

(b) 3Na,|Fe(CN), |+2Fe,(S0,), » (i) 5D 8 Food Srdiyod

() Na,S+Pb(OCOCH,), — (iii) Seod) Sors @IES%0
(d) Nal+AgNO; — (Iv) (©¥gS

The correct answer 1s

o0 oS T

Options:
(a) (b) (c) (d)
, w (iii) (1) (ii) (iv)
(a) (b) (c) (d)

o () (v) (111) (1)



(a) (b) (c) (d)
s = (i) (iv) (iii) (ii)
(a) (b) (c) (d)
L x (V) (i) (iii) (ii)

Question Number : 140 Question Id : 492863780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the major product (X) formed in the following reaction?

NHCOCHS;
| Conc. HNO3 | ~~

ok Hdges’ Dd@jiﬁ& BFS & &0 (X) 267

IHCOCH,
g HNO; | ~-
e HySOy X
A
Options:
: i1~'~i'14:+a:~@*::H3
T NO
o O2N #
:: . NHCOCH,
> 02N

NHCOCH,
:: :NDq
9. )



NHCOCH,

Question Number : 141 Question Id : 492863781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which one of the following compounds produces propan-2-one and ethanal on ozonolysis?

od JdFTred® LEVEE00 IO @ RN-2-60 DO AETS IBDWSE I8?

Options:

But-2-ene

piS-2- %5

-

. 3-dimethylbut-2-ene

-2

- 3-@5)&@5&?5&5—2*&5

Pent-2-ene

L % DOE-2-%5

2-Methylbut-2-ene
.- 2-03SrglS-2-%8

Question Number : 142 Question Id : 492863782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Due to Frenkel defects. the density of the ionic solids

2088 §'Jro J9 vdirIE PIVTTY FoRg

Options:
Increases

1 % e e STa P!



Decreases

. S
2. k1

Does not change

i
- a8 0

Depending on the composition it varies

g RopobT ) 8 Srdodood

Question Number : 143 Question Id : 492863783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 litre of 0.1 M solution of was converted into electrochemically in acidic

NO, NH,
medium by passing 1 A current for 960 seconds. The molar concentration of in the

NH,
solution 1s

esdo airdgos’ 1 b 0.1 M Grdednd Jdogs darabdddon w, LA

NO, NH,
Aeogdado 960 D¥ogrin Dobod B8N0 BoBowrd. (THdnS” [;Emwﬁ s

NH,

Options:

. % 0.0048
- 0.0017

, % 0.048

Question Number : 144 Question 1d : 492863784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A complex represented by CoCl, - ¥NH, was dissolved in 1.0 kg water to make 0.1 m

solution. When this was mixed with stoichiometrically required amount of solid AgNO,.
28.66 g of AgCl was obtained. Assume 100% ionization of complex occurred and the co-
ordination number of Co (III) 1s six. K, of water 1s 1.86 K kg mol~!. What is the value of

ATofthe solution upon adding the AgNO,? (Molecular weight of AgCl is 143.3 gmol?)

CoCly-aNH; o $03rd) 1.0 kg 38S* 66000 0.1 m @57d) SSrsHBr. &
58 Fonbr Jodbor S AgNO, > 0B5H%, 28.66 g © AgCl D8 B0b.
Ho3gndo 100% @oPNESwo TodIE Joséasn Co (III) ?@232&5 Qopy B ©I
wfoFos0. 98 K.deos 1.86 K kg mol. AgNO, & €08k @sod ATdend
do8? (AgCl3rerd o508 143.3 g mol™)

Options:

1

o/ 05585C

, % 0.186°C

< OFTC

4 x 0°C

Question Number : 145 Question Id : 492863785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What will happen if a copper spoon is used to stir a solution of aluminium nitrate?

worgudoho JBE rHerd) T8 Bood® FOLIPE I 2B HSE?

Options:

;

The spoon will be coated with aluminium

i DFoT W VOrLLICR0 JE :Dtﬁgcé:e‘.&auﬂz

Al-Cu alloy will be formed

_— Al-Cu oESos o 88808



There is no reaction

, ;565,5 2380080
AR

There will be an explosion

a8 :J?f?:li]éf.) 2ofodood
4 #®

Question Number : 146 Question Id : 492863786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following graphs does not represent a first order reaction?

Bod (MHOS® I8 J0dE Firod gk dordowseo?

[A] In [A] rate 1 %

Options:

, » a.b.d

- a.c.d

, x b.cd

4% b

Question Number : 147 Question Id : 492863787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

(a)
(b)
(c)
(d)

1So&

(@)
(b)

(d)

List-1

Oxidation of SO,(g) to SO,(g)

Combination of N,(g) and H,(g) to form NH,(g)
Hydrolysis of sucrose to form glucose and fructose
Hydrogenation of vegetable oils to form vegetable ghee

TEQ RSEDCWIN0

arder-1

SO,(&). SO,(7) # 5888w

N, (=) $08c80 Hy(a) © Soond So NHy(@) 28ydow
B8 sodite Dod ArFE Sbdin PEEes W
58 Howodd Bore TE=EG00 So 5 Sonodd
Joxg bﬁa‘jéﬁaé&

The correct answer 1s

98 Lo Barew

Options:
(a) (b) (©) (d)
p ow (101) (V) (1v) (11)
(a) (b) (©) (d)
e O Gi) G @
(a) (b) (c) ©
3 v (i) (i11) (iv) (1)

(1)
(1)
(iii)
(iv)
)

(1)
(1)
(iii)
(iv)

(V)

List-1I
Ni
P1
Fe

H,SO,

Pd

erfiar-11
Ni
Pt
Fe

H,S0,

Pd



(a) (b) (c) (d)
- (1) (iv) (v) (111)

Question Number : 148 Question 1d : 492863788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following contains highest purity Fe?

o8 T8’ edgds H8HES Ko Fe ¢odd 287

Options:
Pig Iron

% Df 065

Cast Iron

. % 5@ 28

Haematite

o pn SIS T
[ = —

Wrought iron

TS x8oB0

Question Number : 149 Question Id : 492863789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements are correct?

a)  All elements of group 16 form their hydrides

b)  The bond angles of H,O and H,S are 104°28"and 92°30". respectively
¢) Dry SO, is areducing agent

d)  Pyrosulphuric acidis H,S, 0,

Eod DSEpoES’ D JH8BHI?

=

) () 16 5 o) drore T8 RGOS IR0

b) H,0 508050 H,S 0d® 2088%0ren Sddm 104°28" 5080 92°30
c) &rd SO, a8 §oo8da s8N0

d »& éw&g&g essiosn H,S,0,

Options:

1 ¢ a.b.d
o B C.d

- » a.c.d

4 # b.d

Question Number : 150 Question Id : 492863790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Observe the following statements
Statement (A) : XeF, readily reacts with water to form Xe(g). HF(aq) and O,
Statement (B) : XeF has trigonal bipyramidal structure

Bod JHbepodn H8IDoLHW
D58 (A): XeF, ogfor 288 $8gTod Xe (o) HF (2o) So0dcin O, 0
Ddgdaﬂ’nsi:a

258 (B): XeF, @ﬁﬂf}@_ BREES AomeaQ) $0A Gotwod

The correct answer is
o8 oM 2T
Options:
Both (A) and (B) are not correct

. (&) Bo050 (B) e Dok $6GHD 9
1

(A) 15 correct but (B) 1s not correct

L (A) 96036 50 (B) 90850 5°6
z.

(A) 1s not correct but (B) 1s correct

(A) %8588 ¢ 52 (B) $0&Bo88

Both (A) and (B) are correct

. (A) 5005 (B) e o $0G0ED
4

Question Number : 151 Question Id : 492863791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the species/products formed during the reaction of KMnO, with iodide under
weakly alkaline conditions

20N 528 odrdBos® we KMnO, & ed@ras $6gTTobdyd DCSJC&J rden / Sodradrgo
28050

Options:



MnO,. KI. H,0

_ o MnO, MO, T,

MnO,, KOH. 1,

o R

. » MnO,, KOH. I0;

Question Number : 152 Question Id : 492863792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct set for [Ni(CN) 4]3—

[Ni(CN),]> & dowofod H0508 SWEY Koowrdn
Options:

Tetrahedral. sp’. paramagnetic

Sdadndoso, sp. Hoeahdmod

Square planar, dsp?. diamagnetic
, dhde Fdde, dsp’. dasreaiin,od
2
Square planar. dsp?. paramagnetic

DSde Sdpo, dspr Horeciar, ol

Tetrahedral. sp. diamagnetic
ﬁé&@éﬁ)oﬁooﬁ sp?. dodore oo, 08

Question Number : 153 Question Id : 492863793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Nylon 6 1s prepared from

35 65 B 08 SSrHBRE

Options:



Carprolactone
SITrarE e
1. " =
Hexamethylene diamine and adipic acid

L x TSIDBOS BIS Ho0cin AL who

Caprolactam

2 v SETOrER0

Glycine and aminocaproic acid
T S080in s rons edo
4 B a2 LI

Question Number : 154 Question Id : 492863794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements are correct about the inversion of sucrose?
a) Invertase catalyzes this reaction

b)  There is a change in sign of optical rotation

¢) Glucose and mannose are formed in the reaction

d) Glucose and Fructose are formed m the reaction

Bod 8¢ HF*E IS HS0ISH Dowodod HORS S8 AD?
Q) & S8 AVSTE w@)Pee Dol

b) (0% Fdond HE) SrSeed

) & SESt KrFE HHBaH SrTE Syderon

d) & SEgS* HMrE'E Sodatn PEE A Karow

Options:

N d-h ¢

> x a¢.d

2 ¢ ab.d



« Dod

4.

Question Number : 155 Question Id : 492863795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The structure of the antisepetic chloroxylenol is

Options:
CH
H;C” i ‘CH3
1. 2
OH
I—I;C
CH3
R Cl
Cl
H:;C i ‘CI—I3
z ® OH

cl CH,
HD: i :

Question Number : 156 Question Id : 492863796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

i



Which of the following statements 1s/are correct for the reaction?

(—}—2—111&'[11}?1—1-butalml' conc. HCVA , (+)—1—chloro—2-methyl butane

a) It proceeds with inversion of configuration

b) It proceeds with retention of configuration
c) Reactant and product differ with respect to rotation of plane polarized light

Bobh Hgso D DSEea(e2) 389_335633'?

(2236 larsws's  mEHCUA | (+) 18622536 argds

a) & Wy AT TR0 o 238318980
b) & Gy chersd aoegdo oo adifolo
C) (BoiradEin $odokn tréydhn dhde I 5708 Eoerds Ho2080d JFPBFTL

Options:

1 % 4E

> % A.D

4 v D.C

Question Number : 157 Question Id : 492863797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The number of resonance structures possible for anisole is

IVFEE gty BERY) AoEre Doy

Options:
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Question Number : 158 Question Id : 492863798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In the reaction given below 1f B 1s 4-hydroxy-4-methyl pentan-2-one. identify the structures
ofAand C

od adyd $83S5° B 0iodd 45r@8)-4-036 woBe-2-60, vand A Hddsn C o
wbotod

Ba(OH)
A -
—H,0
Options:
A C
0 M O
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CH; OH;. & pa =R
. Me
A C
bt Ay b
H,C — /{_f.:.H2 C— CH;
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H,C~ NCH, - ]
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Question Number : 159 Question Id : 492863799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The reaction of 1-methylcyclohex-1-ene with O, followed by the reaction with Zn-H,O

gives X. Compound X on warming with [ﬂg (NH; ) }@ / DHeproduc es’Y. Whatare Xand Y?

a4

1-2036 PETE-1-&5% 0,8 $85 203 8600 Zn-H,0 8" 65 addm X dinob.

X 930 ¥d50& [Ag(NT-h )q]@/OHeﬁT 3@V Y adydoshod. X. Y oo 2972

Options:
X Y
L= OH 0
X Y
O
CHO
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X Y
O
H

CHO "
CHO HDM
3 #®

v
e j\/\/\/\
OH HO

Oy -

OH

Question Number : 160 Question Id : 492863800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Which of the following reactants gives meta nitroderivative. on nitration with conc. HNO,
and conc. H,S0,?

Bod Bosradstod® ¢ HNO, $8csn ¢ H,80, 8 I Bal addm Jobr3w’
GdBnd RENSe I6?
Options:

Acetanilide

| & JD&IBE

Phenol
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2 @ IV

Chlorobenzene
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